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English 1% Paper

Seen passage : Unit (2,3)
. Choose the best answer =07
. Question =10
. Without clue =05
. Re-arrange (Model : 11-20) =08
. Paragraph (3,4,5 from syllabus) =10
. Story writing (1,2,3 from syllabus) =10

English 2" Paper

. Transformation of Sentenes
(Voice, simple, complex,

Compound, affirmative, negative, interrogrative

exclamatory) =10
. Narration =05
. Substitution table (Model : 1-10) =05
. Tag-Question =05
. Completing sentence =05
. CV writing (1,2,3 from syllabus) =08
. Composition (1,2 from syllabus) =12
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